OBOPYOOBAHUWE U PACXOOHBIE
= . MOBW/ A i

- MATEPUAIbI AN ABTOCEPBUCA U
v CIPBMC LuMHOMOHTAXA
LB-40-2
Macca (HeTTO0) 31.8 Kg
BHemnne Pazmepsl 430*330*350 mm*mm*mm

V3en nacoca LB40-2 V3en nacoca LB40-3

Mobuncepeuc Ten.: 8 800 234-11-80  e-mail: sales@msvlad.com www.msvlad.com




V3ea nacoca LB-40-2

K MpumeHs- | [Mosvuusa B
on HanmeHoBaHve

€MOCTb | JeTanvpoBke
11131005 |Bont wkmnBa M10x45(J1eBOCTOPOHHWMI) 1 1
11124001 |LWan6a ctonopHasi NeBOCTOPOHHSsS P 8 1 2
21213002 |UWanba $38 1 3
21212003 |LWkums LB40 1 4
11131004 |BonTt kpenneHns M8x25 4 5
11123003 |I'paBepHas wanba ¢ 8 28 6
21113004 |lNepedHsis KpblLKa 1 7
21177005 |®ukcaTop canyHa 1 8
21166001 |CanyH 1 9
21152003 |lMNpoknagka nepegHen KpbllKu 1 10
21161004 | CanbHuK 1 11
21134001 MogwwnnHuk 62057 1 12
21136001 |CermeHTHas LUNOHKA 1 13
21131005 |KoneHBan 1 14
21111011 |Kaptep 1 15
21169001 |[lMpobka cnvBa Macna 1 16
21164002 |MacnoykasaTtenb 1 17
11131001 |BonT KpenneHus Kpbllwkn M6x20 3 18
11123002 |I'paBepHas wanba O6 3 19
21112003 |3agHsas Kpbllka 1 20
21155001 Mpoknagka 3agHemn KpbILKK 1 21
21134003 MopgwwunHuk 6205 1 22
21167002 |lMpobka 3anuBa macna 1 23
11133001 |BonTt macno pasbpbidrmBatenst M4x10 3 24
11123001 |UWanb6a ctonopHas ®4 3 25
21163001 |Macnopa3sbpbi3rmBatenb 3 26
21132005 |WatyH 3 27
21143002 Maney nopwHsa ®14,5x57,5 3 28
21141003 |MNopweHb P65 3 29
21144002 CrtonopHoe konbuo ®14,7 6 30
21145003 Komnnekrt koneu 65 3 31
11141001 |UWnunbka M8x35 12 32
21153001 |Mpoknagka umnuHap — kaptep P65 3 33
11111002 |lavika M8 12 34
21121004 |UnnunHgp P65 3 35
21151002 Mpoknagka 6noka KnanaHoB HMKHAA P65 3 36
21124003 | KnanaHHbilU 6510k 8 kommiekme @65 1 37
21154001 |lMpoknagka 6rioka knanaHoB BepxHasa ®65 3 38
21123003 "onoska uunuMHapa 3 39
11132004 |BonT Bo3aywHoro gunbtpa M8x30 6 40
11122001 |MepgHas warba $8 6 41
21175002 | ®unbTp BO34YLWHLIN B cbope 3 42
11132006 BonT KpbllwkK 6noka uunuHgpos M8x50 12 43
11113001 |lavka ©14,5-27 1 44
21174003 | TponHUK 2 45
21171002 Pagnatop 2 46
21173001 | YronbHUK 1 47
21125013 |[TnacmuHbl KnanaHHble 8 Komrnekme (2wm) 1 37/2
21126002 | AnromuHueesas npoknadka 1 37/3
21177012  |[MampoH 8030yuwHo20 ¢hunbmpa 1 42/2

Mobuncepeuc Ten.: 8 800 234-11-80  e-mail: sales@msvlad.com www.msvlad.com




¥Y3eia nacoca LB-40-3
3anyacTu uMmeromue oranuusa or LB-40-2

K MpumeHs- | [Mosvuusa B
oA HanmeHoBaHne
€MOCTb | JeTanvpoBke

11121011 | Wawnba dp8-d38-5 1 3
21113011 |lNepedHss KpbILKa 1 7
21178001 |dwukcartop canyHa 1/4" 1 8
21152001 |lMNpoknagka nepegHen KpblLlKu 1 10
21131013 |KoneHBan 1 14
21111026 |KapTtep 1 15
21164004 |Macnoykasatenbs G3/4” 1 17
11134002 |BonTt macno pasbpbidrmBarenst M5x10 3 24
21162002 |Macnopa3sbpbi3rmBatenb 3 26
21132004 |WaTtyH ¢30-d14,5-108 3 27
21124010 |KnanaHHbin 6ok B komnnekre $65 M8 1 37
21174008 | TponHUK 2 45
21171013 |Paguatop ¢12x200 2 46

Mobuncepeuc Ten.: 8 800 234-11-80  e-mail: sales@msvlad.com www.msvlad.com




	LB-40-2

